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Identify and arrange the followimg taxonomic categories in ascending order.

A) Hominidae B) Triticum
C) Spermatophyta D) sapiens
E) Primata F) Insecta
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Question Number : 2 Question Id : 7196501442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Matc
A)
B)

C)

D)

h the following lists:
List I
No sex organs, dikaryotic exogenous spores
Infectious agents without nucleic acids
Differentiated cytoplasm bloom in polluted water
bodies

Fruiting bodies bearing spores, survive many years
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Gonyaulax

Trichodesmium
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Basidiomycetes
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Question Number : 3 Question Id : 7196501443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following lists:

List I List IT
A)  Theophrastus I By hybridization and genetic engineering
B) C.GK.Ramanujam 1) Electron Microscope
C) Progress in floriculture and  III) Described the internal and external
forestry characters of plants
D) Knoll and Ruska V) Developed the science of pollen
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Question Number : 4 Question Id : 7196501444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Cyeas shows siphonogamous oogamy and zooidogamy.
Reason (R) : The pollen grains are released and pollination 1s anemophilous. Pollen

tube carrying male gametes grow towards archegonia in the ovule.
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The correct option among the following is
&2 S0l DRYFUS DOGHIS
Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) Do, (R) 0O@0nsd 000k (A) %o (R) 008 addes.

1. ¢
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
- (A) Doons&, (R) D0ondd =0 (A) 50 (R) 00« 28de 2.
(A) 1s true but (R) 1s false
(A) JCeeondd =R (R) 00w 2.
3. ®
(A) 1s false but (R) is true
. (A) $000RS& & 3 (R) Dowondh.
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Question Number : 5 Question Id : 7196501445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

List-1 List-II
A. Protonema L Useful in spore dispersal
B. Circinate venation L1 1] Coiling of young leaves in Pteridophytes
C. Elaters IT1. Storage food in Rhodophyceae
D. Floridean starch IV.  Juvenile stage of Bryophytes

V. Naked ovules
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Question Number : 6 Question Id : 7196501446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Pneumatophores are found in the following roots of Rhizophora plant.
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Options :

Vertical roots
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Hanging roots (Velamen)
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Question Number : 7 Question Id : 7196501447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

ListI
A) Branches of limited growth modified for I)
photosynthesis
B)  The peduncle is branched with one branch each  II)
time
C)  Multicarpellary. syncarpous unilocular ovary., III)
stony pericarp
D) Placenta is axial and ovules are attached to V)
multilocular ovary
V)
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Question Number : 8 Question Id : 7196501448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A. The tip of embryonic axis emerges out first during seed germination 1s called
rachis.
B. In Artocarpus integrifolia, the fruit type 1s syconus, where the edible part 1s

succulent perianth.
€. In Pyrus malus, the edible part 1s false fruit.

D. Pepo fruit is developed from tricarpellary. unilocular inferior ovary.
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Question Number : 9 Question Id : 7196501449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Assertion (A) : The vegetative propagules are capable of giving rise to new offspring.

Reason (R) : The reproduction occurs with spores produced in large numbers in fungi.
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The correct option among the following is

&t S0l RRYFUS VOGNSR

Options :
(A) 1s true, (R) is true and (R) 1s the correct explanation of (A)
(A) Lok, (R) D00t 0005w (A) B (R) X008 wde.
1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) SoLowdd, (R) S0ondd 22 (A) 8 (R) 008 250 5260,
2. ¥
(A) 1s true but (R) 1s false
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(A) 1s false but (R) 1s true
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Question Number : 10 Question Id : 7196501450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct statement.

A) Several hormonal and structural changes are initiated for the development of
floral primordium.

B) Each anther will have two sporangia at the sides.

) Stomium will be useful for the dehiscence of pollen sacs.

D) Pollen grains can be stored at —196°C.

E) Pollen viability in rice will be 2-3 days.
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Question Number : 11 Question Id : 7196501451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What 1s Apomixis?
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Options :

Production of fruit without fertilization
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Production of seeds without pollination
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Production of fruit without pollination
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Production of seeds without fertilization
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Question Number : 12 Question Id : 7196501452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following books, characters of evolutionary importance were not
considered while classifying plants?
A) Species plantarum B) Families of flowering plants

) Genera Plantarum D) Die Naturlichen plantzen familien
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The correct answer 1s
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Question Number : 13 Question Id : 7196501453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A): Using mathematic methods and computers, differences and similarities
between taxa can be studied and is called as numerical taxonomy.
Reason (R) : Primitive and advanced characters are recognized as evolution which may

be progressive or retrogressive.
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The correct option among the following is
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Options :
(A) 1s true, (R) 1s true and (R) is the correct explanation of (A)

(A) H60ss, (R) H00wSe 0050 (A) S (R) 508 Hdde.



4.

#

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) $6e0058, (R) $0000356 50 (A) % (R) $08 2586 26

(A) 1s true but (R) 1s false
(A) S0k R (R) R0owss o8,

(A) 1s false but (R) 1s true
(A) JoowSh 2 =22 (R) Lowawsh.

Question Number : 14 Question Id : 7196501454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill up the blanks with suitable words.

Schleiden 1  observed that all plants are composed of different kind of cells.

Schwann 11 studied animal cells and reported that plants have 11 and all

cells have v, and Virchow explained that cells divide and form new cells from

v . This constitute w1
A) Cell theory B) Zoologist C) Existing cells
D) Cell wall E} Plasma membranes F) Botanist
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Question Number : 15 Question Id : 7196501455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements from the following:
A) In a polysaccharide chain, right end 1s reducing end and left end is non-reducing
end.
B) In a protem, right end 1s a first amino acid called N-end and left end 1s called
C-terminal.
C) Concanavalin A 1s a drug used to cure cancer along with vinblastin and curcumin.

D) GLUT-4 enables glucose transport into cells.
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Question Number : 16 Question Id : 7196501456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following statements on meiosis in a correct sequence.

A) Terminalisation of chiasmata

B) Dissolution of synaptonemal complex
C) Homologous chromosome separation
D) Appearance of recombination nodules
E) Pairing of homologous chromosomes
F) Disappearance of nuclear envelop
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Question Number : 17 Question Id : 7196501457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

Which is the living mechanical tissue in plants?
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Question Number : 18 Question Id : 7196501458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A): Estimation of the age of the tree by counting the number of annual rings 1s
called “dendrochronology™.
Reason (R) : Periderm 1s formed by the association of Phellogen, Phelloderm and

Phellem.
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The correct option among the following is
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Options :



(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 200onSd, (R) H0@0nse L6050 (A) K (R) $08 286,

1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) DooWIL, (R) D0 20 (A) % (R) 008 0k 5.

2. ¢
(A) 1s true but (R) 1s false
(A) JowouIs =R (R) Do®owS& o

3.8
(A) 1s false but (R) 1s true

. (A) SoLoNSE &0 = (R) SOwawsé.
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Question Number : 19 Question Id : 7196501459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the mcorrect statements.

A) Pollmators play significant role in the production of food crops.

B) One of the threats to pollinators is habitat destruction by land use.

) The climax community remain stable as long as environment 1s changing with
adoptions.

D) Secondary succession will be a slow process compared to the primary succession.
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Question Number : 20 Question Id : 7196501460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill up the blanks with suitable words.

Ecosystem services are 1 understood. The value of ecosystem is larger than
11 . Many of these services are 11 services and cannot be  1v by anyone.

The ecosystem value 1s nearly v the globes GNP. The ecoservices are delivered by

vi
A. Living stuff B. Poorly
£ Twice B Non market
E. Global economy F. Owned
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Question Number : 21 Question Id : 7196501461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct order of statements regarding the translocation of sucrose.

A) Loading of sugars into phloem setup a water potential gradient that facilitates
mass movement i phloem.

B) Sucrose moves into companion cell and then to phloem sieve tube cell by

active transpott.

C) A hypertonic condition in phloem facilitating water from the xylem into phloem by
OSINOSIS.
D) All sink sugars are transported out of the phloem producing high water

potential with returning of water to xylem.
E) With increase in hydrostatic pressure in phloem pressure flow begin and sap

moves through phloem.
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Options :
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Question Number : 22 Question Id : 7196501462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following

ListI ListII List IIT
A) Fe 1)  Nitrogenase I)  Nitrate reductase
B) MO 11) Cytochrome C oxidase II) Automobile exhaust
£ i 11) Forest fires IITI) Formation of chlorophyll
D) NO.NO: 1v) Catalase IV) Redox reactions
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The correct match is
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Question Number : 23 Question Id : 7196501463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The enzyme bearing E.C 2.7.1.2 1s:

E.C 2.7.1.2 590 &) oJo@ew:
Options :
Malate dehydrogenase

$0E GarErds

1. %
Glucose — 6 — phosphotransferase
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2. ©
Arginosuccinase
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3. % =
Glutamine synthetase
L QJ"GJ&'.}JE} oBdER

Question Number : 24 Question Id : 7196501464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Photolysis of H»O and evolution of O> occur in the lumen of the
thylakoids.
Reason (R) : Oxygen evolving complex 1s located towards the lumen side of the

thylakoid membrane.

D3Baw (A) @o?wc'ib &R 0I535S Fodd Ha0 2300 2200 0 2650,
sGasn (R) | dorontd’ wsseasadn B b W Dodhen eotnol.

The correct option among the following is
&t S0l RYFOS” LOGIL

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 5600038, (R) £0000058 $H0050 (A) % (R) H88 2868.

1.v
(A) 1s true, (R) 1s true but (R) is not the correct explanation of (A)
(A) QoowIR, (R) ROonsd 3 (A) B (R) 038 28da s,
2. ®
(A) 15 true but (R) 1s false
- (A) Dlesowsh =R (R) 0000058 2.
(A) 1s false but (R) 1s true
L (A) Joeowsh M0 3 (R) Loausé.

Question Number : 25 Question Id : 7196501465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Several factors interact and simultaneously affect the CO; fixation, the

rate 1s dependent by the factor at suboptimal level.
Reason (R) : Cy4 plants shows saturation rate of photosynthesis at 360 p 17, C3

plants response to high CO; concentration leading to high productivity in

case of bell pepper in green house.

QBB (A) © ©oIE FOzw ¥ e weradio Woltedlo S COz POS Séw, ol
Saoron ET°) S80) S FPowR SrdNl oHotuol.

g (R) : Cy aaoSyen 360 p | 2560 Doy Wrdrr C3 dwd) o @bl CO2 e $&
GT° WIS HOANEL WS TOS Kyl 230 200 Lebd” SOVIR.

The correct option among the following is
&2 Sob RFUT HOGNSH
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 5600058, (R) $000036 $H0050 (A) $ (R) $3< 2866,

1. ®

(A) 1s true, (R) is true but (R) 1s not the correct explanation of (A)

(A) L0oNId, (R) SO0wdd 0 (A) 0 (R) 088 2508 .

2.9

(A) 1s true but (R) 1s false

- (A) V090038 50 (R) COoS&R 5°60.

(A) 1s false but (R) 1s true
(A) 260N 0 R (R) o®oSk.

4. %

Question Number : 26 Question Id : 7196501466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A): In stems, living cells are organized 1n thin layers beneath bark and facilitate
good gaseous exchange.

Reason (R): Root. stem and leaves respire at rate lower than animals do.

QB0 (A): Fomrod Detd S 3ot O ANSS Ddd FOSS Hob TN
QAL Do SO yrow.
50w (R) 1 zsoueadho 23800 S0l HJC0, sPotemen SOOI DEPw °0S00 AR NS S50 H

oS otwod.

The correct option among the following is
&t S0l BRYFUS VOISR

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) H6000058, (R) H000056 56050 (A) & (R) 588 9566,

1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
. (A) DooIR, (R) D000ndd 52 (A) % (R) 008 2588 2.
2. ¥
(A) 1s true but (R) 15 false
. (A) 58038 20 (R) $oe0wI& 6.
(A) 1s false but (R) 1s true
(A) J00WIe 200 2R (R) 0o0nsd
4.

Question Number : 27 Question Id : 7196501467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements regarding entry of substrates into respiratory pathway.
A) The amino acids will be formed by protease activity on proteins.

B) Carbohydrates will be converted into glucose for entry.

) Amino acids will enter as pyruvate or acetyl COA.

D) Fatty acids will be entered as PGAL.

FROFAD DOSNS'Q PFBowER DTS HDE VWU (08ouide.
A) Fedad Fredones Wigsus @sod wdirey o'}u{bm@“w

B) O yradod) DI300¢rs (rshm drdaron.

C) DS warrew G0 Sor VPSS COA SO LJsrow.

a_

—o

D) 57393 walrwo PGALMe 2J%ron

Options :
B, C only
B, C arad
1. =
A. Conly
A, C dresdd
2. ®
C, D only
C. D Soeesdd
3. % =
B, D only
L B, D Joegdao

Question Number : 28 Question Id : 7196501468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the exponential growth expression among the following.

&2 808 A" PEPol AL JPDED 08oudas.
Options :

w=we"

e . : ol
W, =W, — W,e



rt
W, = W,€
3. ¢

e oot
W=W, —W,
4. %

Question Number : 29 Question Id : 7196501469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who discovered the transfer of genetic material from one bacterium to another bacterium

through pilus?

28 e°$0000 ok 2dgDTTRaN OEE e §OCDES LR WT° P0G 800 AFETR)
ST & DSE?
Options :

Lederberg and Tautum

@oﬁéwé SBT3 ¢rdron
1. ¢

Zinder and Lederberg

250005 000iN OEbe0d
2. W

Griffith and Ehrenberg

FEIARNVeToviY 5)&%58@:2
3. %

Pasteur and Koch

éﬂ%aﬁ NOCW §'%
4, ®

Question Number : 30 Question Id : 7196501470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The protemnaceous infectious particle which can cause some serious animal diseases are

called:

PO SrGad §9 200aHus’ BI0N6EY g SLutiEn TPAR & VT LT

Options :



Viroid

Lk PO0TToNG
Viruses
SO0

2. ® =
Virions
:a@oﬁ:nSb

3. %

Prions

-]

OB
4.9

Question Number : 31 Question Id : 7196501471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

List 1
A)  Change in single base pair of DNA
B)  Deletions of base pairs of DNA
C)  Generation of non-parental gene
combination
D)  The frequency of recombination between
gene pairs on same chromosome
€2 80l gFRTPUND 2SDGN.
e 1
A)  DNASW a3 a1 zeoro Sy
B) DNASD spore en 5"OfStw
) 23500 Slo GIE), BFHW SLows
D) &8 Sardsd e adgdo adho Sy

)36 0IT e B:‘.’T’és?’.g_}rﬁ%o

The correct match 1s

OGN 23
Options :
A B & D
L« 1O I 1I 1AY
A B i D
I I1I IV II
2. &
A B C D
I IV I I
3. ¢
A B C D
IT I1I v I

4.

1)
)

V)

D
1)
1)

V)

ListII
Recombination
Genetic map

Point mutations

Frame-shift mutations

szl 11
2320 CIP23 A0
22030g 0L

NS AVEC SRS INTS LY

V-2 &S OSTTL



Question Number : 32 Question Id : 7196501472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a dihybrid cross between genes yellow, white and miniature characters, the parental %
between yellow and white and recombination 1s 92 and 8 respectively, and the cross
between white and miniature characters, the recombination 1s 38% and parental 1s 62%.

Identify the genetic map of these.

DR, DRy O WS ofmrw fu Gglsla PArted DY), DR ST
2 HOraren SDOOIN Ydocirasare % 92 SO0 8 P, @) O DS & visry
063 Wo¥Te Yediranre 38% P, HHEFIFLD 62% TP ) .

D3 22:3030E500:% (180w,

Options :
L 8 W 62 m
1. ®
92 62
Y w m
2. %
8 38
Y w m
3. ¢
Y 92 - 38 -
4. ®

Question Number : 33 Question Id : 7196501473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following lists:

ListI List IT
A) X-ray diffraction data I) Chargaft
B) DNA double stranded II) Meischer
C) DNA double helix III) Wilkins

D) DNA as an acidic substance IV) Watson & Crick

&2 S0l DPTUD 2:BD0LIw

DS 1 0638 11

A)  X-80% D3585 S8 D o

B) g0l o DNA ) Sowds
C) &gvoy0 DNA ) 20,9
D) wair domyQ) $98 DNA IV) S, 8§

The correct match 1s

OGRS 236

Options :

A B C D

III v IT I

A B C D

II1 I 1A% IT

IT I v I
3, %

A B i D
o II II1 v I

Question Number : 34 Question Id : 7196501474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the mcorrect statements from the following:

A) A nitrogen base 1s linked to the sugar through peptide linkage to form a nucleoside.

B) A polynucleotide chain has free phosphate moiety at 5 end of sugar.

) In RNA nucleotide residue has additional ~OH group at 2 position of ribose
sugar.

D) It 1s observed that in DNA. A:T ratio and C:G ratio are not constant all the time.

&s S0l eI HOTR Pgarga (DEoWSW.

A) a8 SPgiairRa QOGRS Bl SR U505 2RE wole argTe Seuiuod.

B) a8 rOSPgIuraE Tnind’, D@y @ Soowd 5 & 87 56 8556 a)otnod.

C)  RNA &0 350 $5,06° 2' & Ffoe SrgloiriG wsiiras oddor ~OH Hardro
Hodnod.

D)  DNA Sot, AT 902 06050 C:G 308 )6 $TorP 8ot Baddoweotod.

Options :
A. B only
. A, B g
B. C only
. B, C sSrghaio
A.D only
» A. D Srgde
D, C only
" D, C s

Question Number : 35 Question Id : 7196501475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

Identify the correct arrangement of different genes in Lac operon from the following.

&2 $0b e3S” g8 8DTPRS’ DAY BZHL VOGS F0S0D (Goves.

Options :



P LY

7. V. d, 0,1,
4, % } P

Question Number : 36 Question Id : 7196501476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following lists
List-I
A. EcoRI
B. Tiplasnud
pBR 322

2

D. Reverse transcriptase

IL.

I1I.

& 808 DEED E30HIIN DT,

DEE-1
A. EcoRI
B: T1 Bﬁ“ﬁ)&fﬂ
C. pBR 322
D. 5&55'3 g.;i’)bé'%ga%

The correct match 1s

OGN 228
Options :
A B
II I A%

1.v

IL.

II1.
IV.

IAY

List-T
Vector for transgenic plants
Restriction enzyme
Probe
RNA dependent DNA synthesis

Artificial plasmid

OGE-1I
22:0g 00X0S S8 L8 TP EIW
395Q wdoBen
e
RNA e55r0& DNA Qodeasdn
5985 PG



II 11 IV

2. %
A B C D
% II I IV ¥
A B C D
II I VvV IIT

4. %

Question Number : 37 Question Id : 7196501477 Question Type : MCQ Option Shuffling : Yes Display Question Number
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the following lists:

List I ListII
A) HindII T) pBR 322
B) EcoRI II}  Replication of the plasmid
C) HmdII IITI)  First restriction endonuclease
D) rop codes IV) E. coliRy 13

& $od BPATUD BBIGNG:

speder 1 erede 11
A) HindII I) pBR 322
B) EcoRI ) PG OBES
C) Hind III M) Sddnised O2395S ot gir §ome
D) 1op §& IV) E.coliRy13

The correct match is

HOGLS 269

Options :
A B € D
I 1AY II I
1. &
A B C D
- II I IV III
A B & D
III 1I | AY4 I

3. %

: Yes Is Question



B _
III v I II

Question Number : 38 Question Id : 7196501478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List II
A) Transgenic papaya I) Antigen-antibody interaction
B) Super weeds IT) Ring spot virus
C) Sovyabean IIT)  Gene pollution leads to resistance to
weedicides
D) ELISA IV)  Herbicide tolerant

& S0l DEEOD BBLGWG:

HGE SGETT
A)  DOLSOS e yow D) 0B CEE mIESN-0S GKE D00 W0y
B) w6 D&y M) 6of ¥ye 62
C) e DS )  zdgrenlgow Sau)adnd) oaedso
G GESH oS luol
D) ELISA IV) ZoQ@wi)odrdrod Sus'de

The correct match 1s
QO 2389

Options :



A B C D
III I 1Y I

3. %

I III I Y

Question Number : 39 Question Id : 7196501479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List IT
A) Torula yeast I) Breeding plants for public health
B) Biofortification 1) Led to high yielding resistance to water stress
C) Atlas 66 IIT)  Single cell protein

D) Hybrid breeding IV)  High protein content

&2 S0l VBT BOGUabs:

e8¢ T HES T
A gor & D e w6ty S S5 HrsSo

B) wojpﬁjﬁggaégqu 1) QI LS AT LS FONS hf Hiet TFw @RSY&
C) rd 66 ) %% FeSS
1D) BEERSTS-ToReL ANV WY IV)  ©&f ¥ H087e0

The correct match 1s

DO e

Options :



Question Number : 40 Question Id : 7196501480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the re-emerging infectious diseases among the following.
A) AIDS B) Mad cow disease €) Cholera
D) SARS E) Dengue F) F-TB

%o& TS 3OO 200D ﬁ”g@bﬁ) @ VTNV LY

A) AIDS B) SE T gl C) Sooe
D) 6y E)  Gotirg F) F-TB

Options :

A BF
1. ®

B.C,D
2. ®

D E.F
3. ®

€L E F
4. &

Zoology

Section Id : 71965029
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965029
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7196501481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

The drug extracted from this plant i1s used as an anti-cancer drug.

S0l adE). o VECeSWC Ttlo T30 AGTEIS LACIFOFR.
Options :

Digitalis purpurea

LW Gasdrev DErealr

Vinca rosea
 dose dwalr

2. ¢
Papaver somniferum
BRI Tolly Ay)) ) 2o

3. %
Cannabis sativa
) 290 réia

4. % -

Question Number : 42 Question Id : 7196501482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A): Steller’s sea cows are extinct in recent years.

Reason (R): Over exploitation by human beings.

A3yBo (A) PG DS SaHen St g Dendo WOPgow.
52080 (R) - cﬁj“ﬁ@w C‘:)J@éc@(:ﬁj"ﬁo &% 955Ck0.

The correct option among the following is
&s $old DYFOS HOALIL
Options :
Both A and R are true. R 1s correct explanation for A

A 2o8adn R dazo. A § R 20 D502

1.V

Both A and R are true. R 1s not correct explanation of A.

A 20803 R Dezo. A § R 28 DHGes 5°¢0

2. ®



A 1s true. But R 1s false

A Dxo. 570 R Do 57¢L

3. %

A 1s false. But R 1s true

A Qzo 5°¢0. 520 R Q2o

Question Number : 43 Question Id : 7196501483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Intercellular junctions preventing leakage of the body fluids are:

300 Qaren 5265006 QT Gow Eoaeatd Dot

Options :

Adhesion junctions
L 0 Dedben

1.
Anchoring junctions
&}o(‘érﬁ KJOC‘:})@J

2. %
Tight junctions
2003003) Dot

3.¢
Gap junctions

o @@ Dodoen

Question Number : 44 Question Id : 7196501484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statement I : Tendons attach one bone with another bone.

Statement IT : Epiglottis 1s formed by elastic cartilage.

DBPGS T 1 ) G0 2vetdedo (tendon) Wi BoS™S wdeSn¥es” Doxol
SOFSITL : SLasirg¥ QOPOE S0 YLrQes” Yol

The correct option among the following 1s

€8 800 )OS DOALIG



Options :
Both statements I and IT are correct

DOFABD I, DOFED 11, ok HTHD

1 ®
Both statements I and II are wrong
DOFED I, HAFES 11, Sodhs DBID s5°¢0
2. %
Statement I 1s wrong but Statement II 1s correct
- DA D 1 DBRAE 5760 570 DAFED T DB/
Statement I is correct but Statement IT 1s wrong
. DATED [0S 5° PG 11 HDBHE 5°¢
4.

Question Number : 45 Question Id : 7196501485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Mollusc Class
A) Neopilina I) Tetrabranchiata
B) Chiton 1) Scaphopoda
C) Aplysia 110) Monoplacophora
D) Pulselhum V) Polyplacophora

V) Gastropoda

Sobd EIR) 2385 DG
ESLVERC dz%e
A) DOAPHT® D) erereSodir
B) Fero 1) P AT
) WJDAD? I10) IS PS YO
D) DTy Lo V) POFSFO

V) W@“j g e

The correct match is

NOGLS 2388
Options :
A B @ D
II v IV I
1. %
A B D
I v V II
2. %
A B C D
III II Vv IV
3. %
A B C D
I 1Y V II
4. v

Question Number : 46 Question Id : 7196501486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct statements:
I) Aristotle’s lantern 1s found in echinoids

1I) Glochidum 1s the larva of cephalopods

IIT)  Scorpions respire with book lungs.

IV)  Parapodia are found m oligochaetes

S08d oFPOD g0HS0 W 10 PR tH0olole!
D ©OPEIS Pty IPTTONELS Gollol.
II) Hddabo dpefFrEe dozko

III) &0y V0 &:0SLes” FIVFOW.
IV) 2S00 SRSy FPaPen GotPow

Options :
L IO
1.
L. LI
Lo ILIV
I IV
4. %

Question Number : 47 Question Id : 7196501487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ammocoete 1s the larva of

Q:Jc?l?&gjég &R Gotdso

Options :
Myxine
DS

1. ® S
Ascidia
DH3Eatr



Petromyzon

D& ard
3.
Branchiostoma
yoéaiﬂé?fm
4. %

Question Number : 48 Question Id : 7196501488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statement I: Sternum appeared for the first time in amphibians.

Statement II: Snakes have 10 pairs of cranial nerves.

D3PS I éﬁ@ SOSEFOTP &S0l TP EA006.
DeBarcsS I XJEPQQJ@‘ 10 22850 ZaPerTeliony &olIe0w.

The correct option among the following 1s
&2 $obd DYTOS” DOGDSE

Options :

Statements I and II are true.

L&ardden I, I g

Statements I and II are false.

LTSS I, T 2839 55

Statement I 1s true. But IT 1s false.

DAFES 10030 5O HAFES T H0I60 S

3. %

Statement T 1s false. But II is true.

HOFESS T IDI0 560 9 PAFESS 110936

4.%

Question Number : 49 Question Id : 7196501489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A): The transverse binary fission in Euglena is called symunetrogenic
division.

Reason (R): The daughter euglenae formed by binary fission are like mirror images.

fa%()e:éo (A) : alvdares s O agjm@ageg:&} DAEBUS Detesss wolrd.

s°Gto (R): & ogwcbai}e_fg 59 %e] NS B dil.)"@ﬁ“?_}d 338 E8 263 LoBTPL P GotTO,

The correct option among the following 1s
&8 S0l NTOE DOQDIE

Options :

Both A and R are true. R 1s correct explanation of A.

A 00350 R Qe2e. A § R 08 25863

1 ®
Both A and R are true. R is not correct explanation of A.
- A 35500350 R 2o, A § R 085 Da58es 5°¢

A 15 true but R 1s false.

A D230 0 R Hase 320

A 1s false but R 1s true.

A D2zo ¢ 520 R Qese

Question Number : 50 Question Id : 7196501490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

Eist=1 List - II
A) Isogamy I Vorticella
B) Anisogamy 1) Plasmodium
C) Hologamy Il)  Monocystis
D) Conjugation V) Amoeba

V) Trichonmympha

S0l PR 2285 DGRl
3G - 1 3G - 11
A) 8000370 ) Soer
B) 905 Hodirtio 1)  grayd&abo
C) HFSHED ) ORS00
D) o000 W)  eder

K}‘ 5.7}56 ool

The correct match 1s

QOGS 2385
Options :
A B C D
IT I\Y% I A%
1. %
A B 5 D
i II Vv I
2.¥
A B C
III I II Vv
3. %
A B C D
III IV II I
4. %

Question Number : 51 Question Id : 7196501491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct combination.

So&d oL @@Smﬁo Y 203 IRVEE) NS mgoéo&

Options :
Parasite Intermediate host Infective stage to man
Do) 8D SLlalteb o aleb AN Do BB
Entamoeba histolvtica Tsetse fly Tetranucleate cyst
Dotrlver S terdise o S xﬁ@fm}&oég S
e
1%
Parasite Intermediate host Infective stage to man
DT 8D éxJ“%&bsﬁﬁon AP VoS &%
Plasmodium vivax Female Culex Sporozoite
I davo Dos es¢t sorers I\ B @zew
) % Ve =) 492 Rt
Parasite Intermediate host Infective stage to man
DoY) ED S G(STAHOD DT Do &%
Ascaris lumbricoides Sand fly Rhabditiform larva
es3%, 05 evodsmacd ol D U“&(gonef)é“dﬁ) T
3, % a_
Parasite Intermediate host Infective stage to man
DT BD Sbalfebclialery BN Dogaes &%
Wuchereria bancrofti Female Culex Third stage microfilariae
&500a° erog 3¢ Uyers) Q0¢D 5% 0E PTBAL"
4.9

Question Number : 52 Question Id : 7196501492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In the ervthrocytic cycle of Plasmodium vivax, the following stages are present.
Arrange them in correct sequence.

1) Amoeboid stage 1) Trophozoite

IIT)  Schizont IV)  Signet ring stage

V) Erythrocytic merozoites

ey calo ga?f’% 5%5es SFoS 8o G¥en Rolrron. °¢30 DB SGD oS @900 ol
I) 0eTP0NG ¢od 1) &S dreronndd

M)  &%eto IV)  ©90%09% &5¥

V) 8058 derond

Options :

NIV L L
1. %
, NI LIV, W

0,1, IV, IL V

LIV, L IL'Y

Question Number : 53 Question Id : 7196501493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the incorrect statement:

Sold oL @fb%dfdcﬁo W2, O o), fﬁ)@oﬂ.‘ﬁc@.

Options :
Plasmodium malariae causes quartan malaria

N Gale DA S0 LS HSOAT® S

1 ®
Precystic stage of Entamoeba histolvtica 1s non-pathogenic.
aoadare rFOdise Gl PEY §E0 ¥ argh SON

2. % — .

Larva of Ascaris 1s rthabditiform larva.

ov@:gomﬁa‘ﬁc’;o ODIO ey O wroey &F



Inflammation in lymph vessels of man due to Wuhereria is called lymphadentis

&300a 5 3060 rerue” SO0 07598 DoaPtotdn ot
4. &

Question Number : 54 Question Id : 7196501494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Triangular joint in the leg of Periplaneta 1s

DO IEr TSR B0 R

Options :
Coxa
o
|, ® )
Trochanter
,iLSjS“od)Or
2.
Tibia
&32)ose
3 %
Tarsus
credyo
4, ®

Question Number : 55 Question Id : 7196501495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

Cells of corpora adiposa of cockroach Function
A.  Trophocytes L Symbiotic bacteria
B. Mycetocytes II.  Store uric acid
C. Oenocytes II. Intra cellular digestion
D. Urate cells IV. Secrete lipids
V.  Store food
S0l 73R 2265 DONele
SP0eE 87 yT° WEPITT N Seren aTa)
A ST | BRSNS loloves
B. 3000 IL o505 &Py Seuss Sohdie
C. &S I SereBdS &g SOk
D. o006 e IV. §adHod dorow

V. Gfoed), 900 S0kt

The correct match 1s

DO 2
Options :
A B C D
A% [T IV I
1. #®
A B C D
. W 1Y I II I
A B € D
V I 1Y I
3. ¢
A B € D
I Y I \%
4. %

Question Number : 56 Question Id : 7196501496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In cockroach. ootheca around the eggs is secreted by

eS| @cﬁ@ éﬂ%cﬁ} 'E‘:?é@:_}}" ol 2R éoﬁ)@;ﬁ&}
Options :

Utricular majors

OSgdFogerd a30ed 6y
1 ®

Phalic gland

25 (5o
2. %

Colleterial glands

§¢ee3000S Hotoen
3.9

Utricular breviores

Cing3B0gerS BATrEy
4, ®

Question Number : 57 Question Id : 7196501497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Pick up the organism that emuts light

oI IS0 SER f’lﬁl@o‘f}o@

Options :

Pvrosoma

DEYe

Muytilus

D0
2. % BE

Pontobdella

FodrgIer

Aplvsia
aoale

4. %



Question Number : 58 Question Id : 7196501498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following

List-1 List-2
A) Carbon monaxide I) Global warming
B) Carbon dioxide 1) UV - rays
C) Sulphur dioxide III)  Eutrophication
D) Ozone depletion IV)  Acidram

V) Oxygen transport
S0 TPEIR WHDENe

SED -1 SO -2
A) ?6235 21:“;?@:](5 I) o0
B) 56, Coirs & II) e ared SeTen
C) o6 cairs & 1) oS asad
D) 655 & IV)  esd ddo

V) wébaS S ETF

The correct match 1s

OV a3h
Options :
A B C D
b IV I I
1. %
A B C D
II I IV I
2. %
A B C D
I I AY v

3. %



A B € D

Question Number : 59 Question Id : 7196501499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Nitrogen cycling 1s given below. Identify A and B m it.

5ot G932k SGBD SLODS” A, B 0 K000dels

Biological Atmospheric Nitrogen
90 50 | FEFIEoE™ J(Sud [
=T
Industrial k) Electrical
ﬁﬂai\a"’.ﬂﬁ 5’36535-4;’9\
i
¥ \®
NH,—/8—— NO, — NO;
Soil Nitrogen Pool
MNETT S| S
o=

@ uptake

Lﬁiro-:ﬁc‘;o
Decaying biomass Plant biomass
. —
DYV a3 g8 S é;-@;ssms
Animal biomass

2308 2955{_(‘.5;550”%

Options :
A B
Ammonification Denitrification
DT AEEEI0 DdHEGe0



A B
Nitrification Weathermg
HEEBe0 00 3d5
2.
A B
Denitrification Ammonification
DS Ge0 AT ECE0
3.
A B
Weathering Nitrification
o0 300 DHEBE0

4.

Question Number : 60 Question Id : 7196501500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Absorption of water from undigested matter takes place n the large
mtestine.
Reason (R) Inner lining of the large intestine has villi to increase the area of

absorpion.

L8 e (A)
=&t (R)

85(;)0 e a0Dd 5)5"(?0 Lol D0 SJCQ 0T 3080 Wal ol

D D OO Bt ol IFNFTLL 4 N BLrD) BHT BPOW

The correct option among the following 1s
&8 5o BRDYFOS” DOGDIG
Options :

Both A and R are true. R is correct explanation for A
A 2080w R d22o. A & R 2B DHS¢e9

Both A and R are true. R is not correct explanation for A
A 28030 R Dazo. A § R 2382 Dd6e 5°¢»

A 1s true. But R 1s false
A Q2o. 570 R dayo 57D



A 15 false. But R 1s true

A Do 380, 32U R Rz3e
4. ®

Question Number : 61 Question Id : 7196501501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Study the following statements and pick up the correct one:

8obd @oaRe @Cﬁg(ﬁdrﬁo ) "rogaﬁ T3Pelcd ﬁJchﬁo@.

Options :
Increase in blood pH causes right side shift of the oxygen -haemoglobin
dissociation curve
652D pH DOMtto 50 98- ArH D Dairaud 62 HETYH ednreded.
1 ®
Decrease i blood pH causes right side shift of oxygen-haemoglobin

dissociation curve

65 pH Stito 5 23\ 20-rArH DD Dadrad Sw HEIYL wixrieiod.

Decreases in temperature causes the right side shift of oxygen haemoglobin-

dissociation curve

&S S(ito HY S RD-TATHD DAITrad S0 HETVS 2Srheed

Increase in CO; level in blood causes left side shift of oxygen haemoglobin
curve

&4 CO;, ;focm DOt DY WEEO-IFIFI0 DOITRD DETW LTV
200006

Question Number : 62 Question Id : 7196501502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Correct course of blood circulation i human heart.

S8R Ko 2267 DD B B0 S

Options :



Left atrium — Left ventricle — Lungs — Right atrium — Right ventricle.

WGl HO¥ — oJiiadd 2808 — EdOBLL — G K05 Db wE0E

1. ®

Left atrium — Left ventricle — Body parts — Right atrium — Right ventricle.

Wi 508 — i BEOE — QP WP —> G 508 —» Sd G608

Right atritum — Right ventricle — Body parts — Left atrium — Left ventricle.

DA 508 — DG 2008 > B BIPL) — s K0¥ - WSS 2508

Right atrium — Right ventricle — Left ventricle — Left atrium.

DG 505 > G BEOE — WG BEOE — WD 508

Question Number : 63 Question Id : 7196501503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Renin 1s secreted when blood pressure in

&8 800 070 S0 GEHESo 5178080 BN DEL @eHTedd
Options :

Afterent arteriole decreases

DT (20ES” B Do SOBDED

1. ¢
Efferent arteriole increases
| SDTNrs B2’ 68 Mo DOARRD
2.
Afferent arteriole mcreases
9D 3208’ 88 Do BOABIHD
3,
Efterent arteriole decreases
DTS GADES” 8 DEdo SNBZDCD
4. %

Question Number : 64 Question Id : 7196501504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Neurotransmitter released at the neuromuscular junction of a voluntary muscles 1s:

QLD Folil TG FotiS Dob 8¢ VLAl TG eI %o
Options :
Acetyl choline

AES §O

Epinephrme

DD
el

Norepinephrie

TEIDANS

3, %

Dopamine

Eas

4. %

Question Number : 65 Question Id : 7196501505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the mismatched pair

DOTP 23¢9 WO 23890 H0Dovdols

Options :
Olfactory nerves - Sensory nerves
DTPED ATPCEIE - B3PS PG

l. 4 | SeE =

Trochlear nerves - Motor nerves

€0:023Pes rdioey - P¥ TR

2. ®
Glossopharyngeal nerves - Sensory nerves
22RO TPCoLL - g P
3.¢ = )
Spinal nerves - Mixed nerves
300 TR - 05 TP
4. &

Question Number : 66 Question Id : 7196501506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The function not related to thyroxine is:

@U"gbc\% 50 Do2oBodd AR mgoxﬁo&

Options :
Thermogenesis
&IOS

1L#® )
Erythropoiesis
ey S TPNGS

2. ®

Regulation of blood calcium and phosphorus

B%otS" 520000, FPROYERL WK

Regulation of basal metabolic rate

&0 23S S05 Béw LoSogdes

Question Number : 67 Question Id : 7196501507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following:

Statement I : Ty cells are mvolved m humoral and cell mediated immunity.

Statement II : Natural killer cells are a type of lymphocytes.

80bd @oTL0 B3NS0 0Kl

DRSS T ;T 56700 Q3 G W80 6§ AT SIBS D, S QG0
Gt ATGHEBS D P obeow

DAFSSIT 1 DEres TodE Sren vl $¥adad 7000 Serew

The correct option among the following is
€8 8ol )L HOALIO

Options :
Both statements I and IT are correct

D@ardSen I, I 288D

1L



Statement I 1s correct and statement IT 1s wrong

DAFES T 2BH6. T DAFES 11 2BHS T

2. ®
Statement I is wrong and statement II 1s correct
VBPLS T RBHE 5260, 52 DB 1T DBXE
3. %
Both statements [ and IT are wrong
DBarddaden I, I 8050 °ad)
4.8~ -

Question Number : 68 Question Id : 7196501508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statement I : Penetration of sperm mnto ovum 1is a chemical process
Statement II : Acrosome of sperm secretes hyaluronidase which dissolves vitelline

membrane of ovum

DATFED 11 wocoss’s Bugsto Tt Do w8 GFranS Hab.
D30 I1: Bogseao GBS DE Vo 0d HVoeId roirend ey woctto aBo0E),
2SS HT°D) $8AROD.

The correct option among the following 1s
&8 800 DFOE HOLSE
Options :
Both statement I and statement II are correct

DADED T 08050 DAES IT KOS

1.

Both statement I and statement II are imcorrect

DATED T 0803w DAFES 11 DBID 5°2)

Statement I 1s correct, but statement II 1s incorrect

DAFED T 80O, DAFES 11 2DBHE 5

3. %



Statement I 1s incorrect, but statement II 1s correct

DEFED [ DOHE 52, DATFSD 11 DB

4. %

Question Number : 69 Question Id : 7196501509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

List-I List -IT
A. Coitus mterruptus L Intra uterine device
B. Cervical cap 1I. Oral contraceptive pill
2 Multi load 375 III.  Surgical contraception
D. Sahel1 IV.  Natural contraception

V. Barrier method
506 PEIQ 2WBVGl
560 - 1 SO0 -11

A 29085070 DoeS o 1 (50° ) FOSTPS PSS
B. (907408 Syl oty 1L 2SNV O ALEMAIN G BY
i PS'E 375 [OL &S 0EEE 439 D8y
D. ard IV.  8res 580 0% arde

V. eS8 060

The correct match 1s

QOGS 23¢h

Options :
A B C D
I\Y I1I I II
1. ®
A B C D
IV V I II
2.¢
A B C D
II I v IV



A B L D
II Vv II I

4. %

Question Number : 70 Question Id : 7196501510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the RBC of a blood sample are agglutinated when mixed with anti B antibodies, then

the blood group of the blood sample is

8 55 S0P otd B 08 Bitben €Y adotd Hieed” SODIHE Y 5F Sope Dy 3de
BOND & 88 Saarar S8 S0°08 Botothield.

Options :

A
1. %

B

2.

AB
3, %

O
4, &

Question Number : 71 Question Id : 7196501511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Statement I : All the three types of allosomal genes — X linked. Y linked and XY
linked are present only in male human being.
Statement IT : Only X linked and XY linked genes are present in female human

being.

DAPSST 1 St O GRS Bgaden wond X- Sdrodly, Y - Direxs),
XY - D&y, 20ge)en p8unes” drrgded Gotrrow
DAFGIIL 1 X- o), XY — Ddror) a3ddgaden &g &9 0 eotraw.

The correct option among the following is
&a 8ol )OS DOGLIG

Options :



Both statements are correct

- Oold) RBreILT° 0006
1. ¢
Both statements are false
0ol DEBPESLT® D00 $°0))
2 ®
Only statement I is correct
DBPNS T AT DTHE
3.8 % } -
Only statement II 1s correct
e I 5oeady 056
4.8 ¥ =

Question Number : 72 Question Id : 7196501512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following

Sold T°EID 22DNGWNel
Karyotype of Drosophila Sex
ETDer S sODrE) Dotiirdo
A) AA+XX D) Metafemale
0d D B
B) AA+XO ) Female
o &
C) AA+XXX III) Intersex
208008 2D
D) AAA+XXY IV)  Metamale
98 YDA B
V) Male
DB B

The correct match 1s
DO 23¢9

Options :



II v i III
1. ®

A B L D

IAY I1I I Vv
2. ®

A B C D
- 1 II III IV

A B C D

II Vv I III
4. v

Question Number : 73 Question Id : 7196501513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If both parents have AB group, this blood group is not expected 1n their children.

BO Do HHET AB 8o SO0 &0, 20 HOOE™ S8 8F S0 Golicthy

Options :
A
1. #
B
2. %
3. ¢ O
AB
4. ®

Question Number : 74 Question Id : 7196501514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Steroid hormones regulate gene expression by entering the target cells.

Reason (R) : Steroid hormones are water soluble

DPDo (A) 1 DHTPoWE TP e LEgEEFROS’S D8 By 938 gD SD8orow

w0e (R) @ Hor0WGE P60 w0 A€ Slurberon

The correct option among the following 1s
S S0 DIYFOS HOADIH

Options :
Both A and R are true. R is correct explanation for A

A S8adw R d22o. A § R 28 DdSes

1. %
Both A and R are true. R is not correct explanation for A
A 208030 R Ddazo. A & R 28 DdH6e 5°¢0
2. %
A 1s true. But R 1s false
A Dazo. 5°J R dazo 5780
3.9
A 1s false. But R is true
A D230 3280, 570 R dgse
4. ®

Question Number : 75 Question Id : 7196501515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



Statement I : Organs which have similar structure and origin but perform different
functions are called analogous organs.
Statement II : The sudden appearance of some vestigial organs in a better developed

condition 1s called atavism

DBPES I 1 Q0°8e0, DENE 2.8 DOSP Gole JOJE) DL AGQed WBCITOD
SOIrr g @S0 @otrd.

DBPSS 111 §0) PE ©STPS0NTL0 2S5 YO Doldsd YA ©¥y SorP é)é;lds(i:ﬂ@&
CEID0 Wl

The correct option among the following 1s
&2 S0l DOYFFOLS” DOGLSE
Options :

Statement I and statement II are correct

DS T $000%0 HAFES IT H93D

1. #
Statement I and statement I are false
Q@i}ﬂﬂﬁé I S0dain Q@?cﬁ:ﬁ IT D0 5°ad)
2. ®
Statement I 1s correct. Statement 1T 1s false
Q@iﬁi&é I 38564, Q@f’@"d}é IT 2038 70
3, %
Statement I 1s false. Statement II 1s correct
Qé&i}“ﬁérﬁ I 5838 . Qeﬁ%iwcﬁré II X53&
4.9

Question Number : 76 Question Id : 7196501516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct combinations:
S.NO List—1 List—2 List—3

L Anagenesis Divergent evolution  One species diverges into two or
more species

1L Cladogenesis Phyletic evolution Evolution of a new species in
single lineage

IO Gradualism Charles Lyell Earth has changed slowly
through ages

IV. Biogenesis Louis Pasteur Living organisms originate from

preexisting forms

8ol HE3ED @Cﬁéiﬁ}mﬁc QD2 wBS o Doapeindd mgoéo&

o .0 SO0 -1 SR -2 wd% -3
L o555 D&es DEEFalo 2.8 2 LT d&drow Bt S8
80 & eehuen G yidoo
L Es05 PO Hoerado w8 S0 oS 2l e ol
§E 23 a5, abdtio
. Seireedotiedo o Fleve ] alrD FUrdieerr Selorr
cIfJ"GJo\J?.}-J oo
IV. 20007830 vrowr )0 2o odiiained &y sahe
Ve %ﬂﬁg&'}_ﬁ:‘%
Options :
| L
2. ® 1.
- I, IV
4. % I‘ 4

Question Number : 77 Question Id : 7196501517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statement I: The existence of deleterious genes within the populations is called genetic
load.
Statement II: The changes 1n the frequency of a gene that occurs merely by chance in

small populations is called genetic drift.

DAPES T 1 BeETrS HFOEGD 28050 GetelrPd) 28330587700 ot
DAPGES I 1 DSy, 830777 QIR YD Sl P 2Dy APaka)iges” 2200 SPGIYOS
EANVITIRSINES AoV

The correct option among the following 1s
&1 S0l DOYFOSE DOARI
Options :
Statements I and II are true.

DR 1, 11 0350

1.V

Statements I and I are false.
- g@ﬁﬂévé L, II 5330 5%

Statement I 1s true. But II is false.

é@iﬁc‘sr& I 2838, 520 Q_@@c’arﬁ IT 003 s°¢.
3, %

Statement [ 1s false. But Il 1s true.

‘Q@iﬁc‘bé | RSTo RV ARSIAVIECAY Q@ifﬂiﬁé II 2DBIS.
4. ®

Question Number : 78 Question Id : 7196501518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In worker honey bees, pollen brushes and pollen baskets are present on

respectively.

550 S3eiesS” DIFNGE BooRden , VTG 2L SENRITP DI s sotrow.
Options :
Tarsi of legs and tibia of mesothoracic legs

ey 60y o5, oSy SK T SN o



Tarsi of legs and tibia of prothoracic legs

S €0y D05, FIgE Ty 30T och

2. %
Tarsi of legs and tibia of metathoracic legs
SR EP0Y Ad, oy SK Sy €0l oG
3. ¢
Femur of legs and trochanter of metathoracis legs
5 D00 K, Sy S 5299 K5°0€0 odh
4. %

Question Number : 79 Question Id : 7196501519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following

Product Obtained from
A) Omega 3 fatty acid I) Honey bees
B) Propolis 10) Shark hiver
C) Vitamuns A, D II)  Airbladder
D) Isinglass IV)  Sardines

V) Broilers

Sold PR BDHDGNG
&o°G80 Do
A) awdorr 3 g o ) B3
B) I®5 ) 630 sSavo
C) A, D deodogo o) orodw §%o
D) 233 V) 3“95@}

V) eronedd

The correct match 1s
OGS 23¢9

Options :



IV I II 11T
1V

A B C D

A il III I
2. %

A B C D

Il il I Y
3. %

A B C D

v I I v
4. %

Question Number : 80 Question Id : 7196501520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Assertion (A) : Not all tumors are malignant.

Reason (R) . P53 gene is called guardian angel of cell’s genome

Do (A) 1 @) Sedoen drdn) ofd Seadhen
w00 (R) @ p53 &geded e 26S’o Do0&es s @oéry

The correct option among the following is
2 500 DRYFOSE HOALIG
Options :

Both A and R are true. R is correct explanation for A

A 208030 R dazo. A & R 2B DdHGee

1. %

Both A and R are true. R is not correct explanation for A

A 208030 R dazo. A § R 282 DdHGE 520

A 1s true. But R 1s false

A Qao. 570 R Q2o 570

3. %



A 1s false. But R 1s true

A D230 0. 70 R dgge

4. %
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Section Id : 71965030
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Number of Questions : 40
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Sub-Section Id : 71965030
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7196501521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Nobel laureate ABDUS SALAM is known for discovery of

5ol o) D 6ea%0 S (e @8_235 Deran (ABDUS SALAM) (0005 Foldedo?

Options :
Wave nature of matter
DG Bot D5EPSo
1. -
Cyclotron
2. %

Unification of weak and electromagnetic interactions

LTS 20005 D ZEORTY, 0 85 335905 Detiresdo

Cosmic radiation

43 (Cosmic) 05880
4%

Question Number : 82 Question Id : 7196501522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The dimension of light vear

5°0e9 KJO&’)@QC’)@ a0ed
Options :
i
1. %
z
2. ®
ML?T2
3. %
L
4.

Question Number : 83 Question Id : 7196501523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Py . . . . . 2
The position of an object moving along x-axis is given as X =a + bt~ ., where a. b are
constants and t 1s time in seconds. The object covers a distance of 16 m in 2 secs. If
the average velocity of the object betweent =3 s and t = 5 s 1s 28 m/s, the values of a

and b are:

x-0&o Jozo&s DOLFEINS) a8 S PP, 8. b DTeseen SHOGKW T AEIS™ DOAWT
NS af DEBEe x=a+bt’ GPIO° ABVeISI0Y. 2 VEIS” & S 16 m EFSo
ROIPEIVR. =3 5 HOCN t = 5 5 O SRS TP VOO o Ve 28 m/s wowd,
a 00050 b © Denden SSxOrP,

Options :

2m, 3.5 w/s’

1.v

4m, 3 m/s’



-
&

6m 2.5 m's

3. %

01m, 4 m/s*
4. %

Question Number : 84 Question Id : 7196501524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The following figure shows the speed-time graph of a particle moving along a fixed

direction. The distance travelled by the particle between time t=0stot=6s1s

&S J2) J0rP EHLod) Stso GInE) Jfio-5°U0 DEIES” §old IFHeaGSd. t = 0 s ook

t=6s > égé&f_ﬁﬁ Eg30 ROSTPEIo Grdo

12 femeemmmimimin ;
v
(m/s) :
¢ : > t
0 5 10
Options :
50.2m
1. %
60.8 m
2.
30.6m
3 %
40. 8 m
4.

Question Number : 85 Question Id : 7196501525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Vector a=i+2j+2k and b=i- j+k. What is the unit vector along a+b?

008 a—i+2)+2k $0OW boi— j+k. a+h DOISY vk 0O
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A particle ammed at a target, projected at an angle 15° with the horizontal 1s short of
the target by 10m. If the same particle projected at an angle of 45° with the horizontal

then 1t 1s away from the target by 15 meters. The angle of projection to hit the target is

£B2e080B8eeS” 15° 0 S0 HENS5eES & Seto OF(OS 10m SrdetS’ IE0%0e0. @i
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Two balls A and B of masses 50 kg and 20 kg are moving in a straight line in the
same direction at speed of 9 kim/h and 18 km/h respectivelv. Ball B hits A and
reverses its direction at a speed of 27 km/h. The speed of the ball A after the collision

1s

A 0050 B aothw ¢isgtrdhen SE0P 50 kg S0ain 20 kg & 2008060 Coth &8 Q¥
SEok wSdo Wuae) ow. A Al <t 9 km/h 506050 B Gingy, e 18 km/h. B 200
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A simple pendulum 1s suspended from the ceiling of a car taking a turn of radius 10 m
at a speed of 10 m/s. Find the angle made by the string of the pendulum with the
vertical if this angle does not change durmg the turn.

Assume g = 10 m/s?)
( 2

28 08 LdwSwss DEDYIH derdets ok, ) oto 10 m/s &or® 10 m
@5??0@% SosB00e. T Seliieyye S'O%o Jerieatds B8 §'50eS el SVLeR)
ejn‘jg_gcm@, AE) DeVades” S'w%e 305 BHodw S0

(g =10 m/s? 9555)

Options :

30°
1. %

45°
2. ¢

60°
3. &

Fle
4, ®

Question Number : 89 Question Id : 7196501529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In the diagram below the spring has a force constant of K, the block has a mass of m,
and the height of hill 1s h. Determine the compression of the spring x such that the
block just reaches to the top of the hill.

(Assume that there are no non-conservative forces involved.)

80 Dot WrdHeotedd 3900 IR, 200 JTP%o K, ey (5550°% m <H00K §oé e
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Two masses of 1 g and 4 g are moving with equal kinetic energy. The ratio of the

magnitudes of their linear momentum 1s

1 gand 4 g QadgTrden DS Kedes d8e8” Sdoentinme) ow. 7 B Bdgdnre Duude
22
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A solid body rotates with angular velocity @=af i+br" j where a = 1 rad/s* and

b = 0.5 rad /s* and  is in seconds. Calculate the angle between the vectors of the

angular velocity and the angular acceleration at 7 = 1 sec.

W WS Sad Cwgy SHOD e w=at i+b’] tr QABDoSwGod. a = 1 rad/s?,
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A uniform wire of length ‘L” with centre of mass at the origin is lying along the
X — axis. The wire is bent in the form of a circle such that its lowest point is at the

origin. Then the shift of centre of mass is

P 2eliad) 55@:} (éégc‘“% éoéo §O0 x—0&on &I WEOS & LS L. D
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The function (SIn ot — cOS ot) represents the S.HM having a time period T

2o DOF oeS 8 GO 0% (SIN ot — cos ot ) g esdS swo T
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In an earth satellite moving in a circular orbit, a piece of metal (weighing 0.016 kg on
the earth) 1s weighed by a spring balance while the metal is suspended in water. If the
density of metal is 8 times of water density, then the recorded weight will be

(g 1s acceleration due to gravity)

SYTTE $E S 635, BPEHEITR B ST 0%, (B &0 208069 0.016 kg) S5
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Consider a metallic wire of length 10 m. An external force applied results m an
elongation of 5 mm. What 1s the potential energy stored per unit volume

[Young’s modulus of wire Y= 16 x10° N/m’]

10 m 2reSed) Ko a8 SRR S5 DOHEIDSRI0NS &Py 2w HATPIe RONIY YO TS
PO ST, JSPo¥ DUSHOSTSINIH QLY DoLWGS HBeds
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A cylindrical block of wood of mass 10 kg and radius 10 cm 1s floating in water with
its axis vertical. When 1t 1s depressed a little and then released. it starts executing
simple hormonic motion (SHM). The frequency of the SHM. executed by the block
18:

(Assume g= 10 m/s” and let p is the density of the water)

10 kg $$550°8 5005 10 cm 2gFdo SORS 8.8 QR B30 T o JLIGT SolirT,
DEID BLeBol. TPAR WA GOCIFACD SOC DO TPOPE) ¥ COTLL Dol YN0
@R (SHM) & oegay, 98y 0k,

(g= 10 m/s* 005w ‘P’ HE Fol®)

Options :

1

"y '(_)HZ

20V 7
1.

1

2 P

27 V10
2. %

1 |

7 Y10
3. %

2 g i

10V 27
4, &

Question Number : 97 Question Id : 7196501537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



50 g of ice at 0 °C 1s muxed with 50 g of water at 80 °C. If the latent heat of ice is
80 cal/g and specific heat of water is 1 cal/g °C. then the final temperature of mixture

18

0 °C 565 562 50 g 500505 80 °C ¢5 Sy, 50 g He3es* LTG0, oty oo 80 callg
50050 OE3 0050 1 cal/g °C, ©0nS EHsm g, 8 &
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In the case of black body for energy distribution, energy radiated by a blackbody

which 1s given by, Planck’s formula reduces to Rayleigh Jean’s formula for

$%) X003 TR0y, 8 DG DNADEES” TPV Dol SVS DHEGE F5Y SO T Mo
D Fothots BODY ArBerr LoarEn Dothiehied.

Options :

long wavelength region
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equal wavelength of radiation
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long frequency region
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An air conditioner (AC) removes heat at a rate of 1.2 kJ/sec from a room. A power of
400W 1s required to run the AC. The coefficient of performance () of the AC 1s 10%
of that of the refrigerator operating between outside and room temperature. If outside

temperature is 37 °C, what will be room temperature?

2§ BEEGE OB 8 56 $06 1.2 kl/sec Bewed® &apa), SAIANBEOE). GDoEhS0
SEK 400W PSodge @500, 0NN Glugy DIBK () hede JLud Kook
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Pressure versus temperature graph of an ideal gas at constant volume V 1s shown by
the straight-line A. Now mass of the gas is doubled and the volume is halved then the

corresponding pressure versus temperature graph will be shown by the line

ol DHOSNS” GGy PN e SO GIFHBL TP, VO SOOI e V &6 DO
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A standing wave can be produced by combining

© DoTirtioes® 8 Bdotio a5 YEE06E.

Options :



Two longitudinal travelling waves

0ol @Ry 0057 SUolPL

Two transverse fravelling waves

Toll> B335 D08res Sdorren

Two sinusoidal travelling waves of identical frequency travelling in opposite
directions
SgB0% S DOy a8 FdR)dge Ko argdsad(sinusoidal) HASres

SHGarPe)

Two smusoidal travelling waves of identical frequency travelling in same
direction
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In which colour have maximum dispersion

@) Bothr%0 DENEs0 HOLOTT Giotnod
Options :

Violet colour

&20° Gothd
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Red colour
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Yellow colour
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A convex lens is in contact with a concave lens. The magnitude of the ratio of their
tocal length 1s e If their equivalent focal length 1s 45 cm, the mdrvidual focal lengths

of concave and convex lens are respectively.
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A thin transparent sheet of thickness ‘t’ is placed in front of a Young’s double slit.

The fringe width will be (p >1)

o) Bold IOFL HOAIFPBeS, ‘1" Sotiedn Ho DLl FEEGE HLE, IOTL St
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Four point charges qa =2 pC., qg = —5 pC, qc =2 pC, qp = —35 pC are located at the
corners of a square ABCD of side 10 cm. The force acting on a charge of 1 pC placed

at centre of the square 1s

10 em © ghaswtio ABCD &80 8orw 56 qa = 2 pC, g = —5 pC, qc = 2 pC
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N number of charges, +Q each, are placed mamtaining equal distance on the

circumference of a circle of radius R. The net electrostatic potential at the centre of

the circle 1s

N DoageS', +Q wddorio P 2.8 wddo R argrdo (o Sy rgled Jrrs Sroraes
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Options :
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Resistivity of the material of a conductor having uniform area of cross-section varies
along its length on x, according to the relation p = p,(a+5bx): if L is length and A is
cross-section area of conductor. then resistance of the conductor given by

( Py, a, D are constants)
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Thirteen resistors each of resistance ‘R’ are connected 1 the circuit as shown in the

tollowing figure. Net resistance between A and B 1s
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A conducting circular loop of radius r carries a constant current 7. It 1s placed m an

uniform magnetic field Bo such that Bo is perpendicular to the plane of the loop.

The magnetic force acting on the loop 1s.
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Let E{ is the magnetic field at the centre of the current carrying coil of radius R and

B, 1s the magnetic field on the axis of same circular coil at the distance of 3R. Then
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the ratio —; 1s
3,
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A magnetic needle kept in a non-uniform magnetic field. experiences

3503 @Cﬁ):ﬁ“&o@‘ i@o@i GouddGend @Oiﬁ”zrc@ 26 iofb TS DA QSJ“QJQ&O
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A coil of wire of area 0.2 m’ containing 1000 turns is placed in a magnetic field of

induction +/2 T . At time t = 0, the axis of the coil and the direction of magnetic field
are along z-direction. The coil is rotated by an angle 45° in 2s about y-axis. Assuming

the constant angular speed, the average e.m.f induced in the coil is approximately
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Three 1dentical emf sources are attached to a single circuit element: a resistor. a
capacitor, or an inductor. The current amplitude i1s then measured as a function of

frequency. Which one of the following curve corresponds to inductive circuit?
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A plane electromagnetic wave of frequency 30 MHz is travelling along k - direction.

At a particular pomnt of space and time of propagation, if the electric field 1s given by

E =30Volts / meter(—1) , then the corresponding magnetic field is

TSy 30 MHz o a8 Dde dogldolnryetd ¢dotio k- &ds QOIEINPo 0.
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In the experimental study of photoelectric effect, if Vo 1s the stopping potential and v
1s the frequency of the incident light on the metal the slope of graph plotted for Vo
versus v 1s

(where h, e and ¢, are Planck’s constant, charge of electron and work function of the

metal respectively.)
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The series corresponding to lowest wavelength transition in H — atom.

H — D85S @00 )88 @85e50 (90 Deaiescs Srdedd 3ed
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Balmer Series
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Lyman Series
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The equation 4;H — ;Hez' +2e™ +26 MeV represents.

HOE6Ee 4 H™ — jHe™ +2e™ 426 MeV 330 0raved

Options :
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The universal gates are
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OR and AND
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What 1s the output of given logic circuit below if A=0, B=1 and A=1, B=0
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Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A message signal 15 sin(100mt) is used to modulate a carrier signal 45 sin(3 » 10°xt).

The modulation index 1s

15 sin(100mt) 0o 0o3e0R), LS Hedtho 45 sin(3 x 10%mt) S SrcisBe IoDgm0s
EHAPOR STCTRS KD HES?

Options :
3
1. ®
1
3
2. ¢
30
3. ®
60
4. ®
Chemistry
Section Id : 71965031
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965031
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7196501561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of regions. where the probability density of electrons is reduced to zero

for 3s atomic orbital 15
35 DSSrED BOHEPSK DUTINL CIVE), DosPPSgT Polith 0me) § B HBTL Jotdg

Options :



1. %
2

2.
=
¥

3, %
0

4. %

Question Number : 122 Question Id : 7196501562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For which of the following species, the electronic transition from n =5 state to n =2

state will produce the shortest wavelength in nm?

& 5B RO B8, DUTIS n=5 1D Sob n=2 P ATOSYE IS

’eﬁdoﬁ@(‘_jgo nm ¢ AU g =R AVEIAT

Options :
+
He
1. %
H
2. ®
Li+2
3. %
Be+3
4. v

Question Number : 123 Question Id : 7196501563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Identify the correct order of electronegativity for Mg, B, Si and S.

Mg, B, Si S0050 S © Gin), 20mes Sehgreesy 8¢ g, HOGHRS E50 (0000t

Options :

B>S81>8>Mg

1. ®

S=>B=>S1>Mg
2.

B>=S>Mg=>Si
3. %

Mg=>S1>B=S
4, &

Question Number : 124 Question Id : 7196501564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s the correct order of atomic radii of the following atoms?

Bt §ol G306 SPOTL DTSIPED PP DO Edvad.

Options :

Be = Sr>Ca > Mg

1. #

Sr > Be > Ca > Mg
2. %

St > Mg > Ca > Be
3. ®

St > Ca > Mg > Be



Question Number : 125 Question Id : 7196501565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules has permanent dipole moment?

&8 800 GEPHOES” 2B T BB FPHEI0 0B

Options :
BF:
1. %
BeF>
2. &
COr
3. %
SO»
4. &

Question Number : 126 Question Id : 7196501566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules doesn’t exist according to Valence Bond Theory?

?(Jocﬁmaaﬁeﬁ(aoéb} 2ol APeedn (VBT) 055380 & 5ol 98000 G &S Golicd.

Options :

HE
1. #

H,
2. ¢

CH,
3. %

H,O



Question Number : 127 Question Id : 7196501567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
The van der Waals constant ‘a’ 1s the measure of intermolecular force of attraction i a

gas. The correct decreasing order of ‘a’ for the given set of molecules 1s

Told 7O PTEe ‘@’ VLN TPOSNY) WENHY Sy Gols WoBS et w8l LUy
D0SITERV), DLVYR. T8 Sobd VI BEHL P00 PG DT80 ‘@’ DL DO
&0 &0 TPoRek.

Options :

Na>=Hz=>NH;3; > CO3

1. ®

H> >Ny > CO, > NH;3
2. ®

NH;>CO2=N>=H>
3. ¢

CO;>NH3>N>=>H>
4%

Question Number : 128 Question Id : 7196501568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Suppose that, 300 gm of CoHs (g) 1s confined m a 5 L contamer at 27 °C. Calculate the
pressure exerted by ethane from van der Waals equation of state?
a= 5.0 dm® atm mol™. b=0.09 din’ mol™
27 °C 3¢ 5 Sedow PSS 300 ro Siido(a°) EO0 &5) &, TPeEl Q?Pa'ig ed DoEBeso
Soots i (C2Hs) HRO 0% Hde 5 O8) odce.

a= 5.0 dm® atm mol™. b=0.09 dm* mol™

Options :



60 atm

| &
50 atm
2. &
40 atm
3.
30 atm
4. ®

Question Number : 129 Question Id : 7196501569 Question Type : MCQ Option Shuffling : Yes Display Question Number

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Molality 1s defined as

Srerded oS
Options :

Number of moles of solute in 1 kg of solvent

a8 SR (kg) ©raleies” ¥00 &), TPodo JrdL Doty

1LY
Number of moles of solute in 100 g of solvent
100 [PSwe GPoSaieS” 500 &) @PRede Irew Joddg
2. ®
Number of moles of solute imn 100 moles of solvent
100 &3r& © grasedes” 500 &) Trdde 3rede) Doddg
3. %

Number of moles of solute 1n one litre of solvent

28 OG0 TrdedeS” 500 &) wratho Jrede Doty

: Yes Is Question



Question Number : 130 Question Id : 7196501570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

One mole of dioxygen gas at STP is equal to

STP &5 a8 3re Geassyze T°0ad) 50 Dadoeddo

Options :

2
6.022 x 10%* atoms of oxygen

6.022 x 107 HOSTewae ©8yzed

32 g of dioxygen

ad
2

32 g Gadmo
16 g of dioxygen

16 g GesSyzem

1.2 x 10** molecules of dioxygen

1.2 x 10%* eeapo Besded

4.%

Question Number : 131 Question Id : 7196501571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How much heat will be absorbed byl mole of an ideal gas, if it is expanded reversibly
from 5 L to 25 L at 27 °C?
(log3=0.5.log4=06,log5=0.7)

BT 88 TIPS &35y 00 27 °C 565 5 L $006 25 L 50 e 9550680 58" o Dol
0B odo® G0 §°A0uSeatiatiield?
(log3=0.5.log4=06.log5=0.7)

Options :



50 L atm

1. #

29 L atm
2. ®

40 L atm
3.¢¥

60 L atm
4. %

Question Number : 132 Question Id : 7196501572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

K., K, and K; are the equilibrium constants for the following reactions (1), (i1) and
(111) respectively.

(1) H, (g) +1, (g) — 2HI(g)

(i) 2HI(g) =— H, (@ +1 (9

1 1
(i11) EHQ (g)+ 512 (g2) —— HI(g)

Choose the correct relation between K,. K, and K.
&8 Sold 95ge0G) (1), (11) S000kw (111) SSgLE BePLS dorefen K, K, and K.
(i) 2HI(o)—— H, () + L (&)
1 1
(i11) ;Hz(;f}"i_ 512('3)) — HI (o)
K, K, 500500 K, © Siths 086 Dooto )6?

Options :



KI:%{;H =K,

2. %

W

K1:%§q = Ki
v

3.

4,

Question Number : 133 Question Id : 7196501573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Five moles of NH3 (g) in a sealed vessel, dissociates as
2NH: (g) —— Na(g) +3Ha (g)

Calculate the equilibrium constant. if at equilibrium. one mole of N> is found to be

present.

PR B ?J"g@ﬁ 20 3rene NHiz (7°) anéisde S éoa) OETP WolEob.
2NH3 (°) —— Nz (o®) + 3H2 (a°)
880 fﬁo'ﬁ)@"%)@ o‘ﬁfé) 88 375 No aé‘lﬁsﬁ, ﬁoﬁ&@“@@ @O‘oﬁoéj @g&onf}o&.

Options :
4
1. ®
3
2.V
2
3, %
1
4. %

Question Number : 134 Question Id : 7196501574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In reference to water. choose the correct statement

(1) It gets oxidised to O, during photosynthesis.

(1) It gets reduced to H, by highly electropositive metal.

983 DS, S0 TPgRLES” HOGLI.
() SOmahg DoCIrBiodh HIODE" A 88580 Ied 0, % JNSENRD.
(i) 0% SISO E B0 T DSFotS % ETKnEtEo Jobd H , & Jeustnind.

Options :

(1) 1s correct

(i) HOCLSH

(11) 1s correct

(if) 20O

Both (1) and (11) are correct

(i) 0005 (i) Bothr HOTHRD

Both (1) and (11) are incorrect
(1) 00030 (11) Oetisr OGNSR S°3)

4, ®

Question Number : 135 Question Id : 7196501575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following metal hydroxides is amphoteric?

S0l ST S GO TR G8088Te850 Sb?
Options :

Be(OH),

1L



Mg(OH)2

2. %

Ca(OH)
3. %

Ba(OH);
4. ®

Question Number : 136 Question Id : 7196501576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which of the following molecules does not exist as monomer in 1ts major form?

$o8) BENHVES B SRS G WO 5T &otichy?

Options :

BE;
1. %

BCls
2. %

BBr3
3. %

BH;s
4.

Question Number : 137 Question Id : 7196501577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In diamond, the hybridization of each carbon atom 1s

ES0ES DS FEYS DOSFERRS ) HosbEsEo

Options :



1 ®
)
sp
2. ®
sp°
3.
sp
4 %

Question Number : 138 Question Id : 7196501578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UV radiation from the Sun causes a reaction in the Earth’s atmosphere that leads to

the production of

QrEogR Sobs aenedte @& o &3red S8tren (UV rays) Hradotive 2 800 SPosS

WOZL SO YD ©0dgh

Options :
Fluorides
¥

1. #

Carbon monoxide

N SFTSYG

2. &

Sulphur dioxide
DUNO GESYG



Ozone

Bud

Question Number : 139 Question Id : 7196501579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

When nitrogen and chlorme containing organic compound is reacted with sodium

metal, it forms

fcd

(5225 50050 FOID EO &Sy By DT, FEho SErees” S5 TS

7
C

G TETEED.

&

Options :

NaNH> and NaCl
NaNH> 060w NaCl

NaCN and NaCl
NaCN 200030 NaCl

NaNC and NaCl
NaNC 556050 NaCl

3.

NaCN and NaOCl
NaCN s6aiw NaOCl

4. ®

Question Number : 140 Question Id : 7196501580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The major product in the following reactions is
s $oB I3 ORI ST ST 0 WIO?

(HHCI1 (1 eq)

CH,-C=CH—=
(1)HI (1 eq)

Options :

C,H. —CH, — CHICI

1. #
|
C,H,- C-CH,
ci
2.¥
CH, —CHI-CH,CI
3. %
C,H, —CHCl-CH,I
4. ®

Question Number : 141 Question Id : 7196501581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
What are the possible final products in the following reaction?
806 5858S° Pehgactag VeSO GEPNEFL D7

KMiO, H®
CH;CHxCH = CHy #

Options :

CH>;CH>CHO and HCHO
CH3CH>CHO 0050 HCHO



CH:CH>COOH and HCOOH

CH3:CH>COOH 506030 HCOOH
2. %
CH3;CH>CHO and HCOOH
CH3CH2CHO 560350 HCOOH
3. ®
CH3CH>COOH., CO; and H,O
CH3:CH2COOH. CO3z Sbasn H20
4.

Question Number : 142 Question Id : 7196501582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The density of a solid X 1s 1.5¢ / em’ at —250 °C. If the atoms are assumed sphere of

0
radius 2.0 A | the percentage of solid having empty space 1s

(Given atomic weight of X =60g mol ™)

—250 °C 3% X o DS0mrge Folh 1.5g/cm’ HESTeadODH 2.0A FgrPoee Ko
(TP 0505008, LSO ard HFo CI0Ey T°Go oJoth?
(X ciwgy, Hiasee e = 60g mol™)

Options :
21
1. ®
50
2.
14



89

Question Number : 143 Question Id : 7196501583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which of the following mixtures shows negative deviation from Raoult’s law?

808 TPOES" a) 1Fido TS VOO oD BINETEYE DIVSo PP

Options :

Acetone and carbon disulphide
QLT 000K FGYO BTG

] #
Acetone and ethyl alcohol
SRS 0050 FPS ey LS
2. #
Acetone and benzene
SRS SDOOKWD 23088w
3. W
Acetone and chloroform
ST SO0k §T o
4

Question Number : 144 Question Id : 7196501584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



180 g of glucose, CsH1206 1s dissolved in 1 kg of water in a saucepan. At what

temperature the solution will boil at 1.013 bar?

(Ky for water is 0.52 K kg mol™)

a8 PSS 180 TP (P8'eS (CeHi206) 0 a8 328 (1 kg) 9E3eS" 0o, 1.013 &6
565, o) S 3565 TreSEao SHBIBE?
(€3 ABwEy. Kb 90035 0.52 K kg mol™)

Options :

100.00 =C

1. ®

100.26 °C

101.52 °C

100.52 °C

Question Number : 145 Question Id : 7196501585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0.804 A curent 1s passed through an aqueous solution of NaCl for 10 minutes. The

volume of 0.05 N H>SO4sneeded to neutralize the base 1s

0.804 A 9g8%H 10 dmdren ¢ NaCl somrste Hem HoddyE TCe®
@@@5@'0\:}@”&; oot L0rSH0STeE0 (9 0.05 N H2SO4 965080 2909)e200?

Options :

25 mL

100 mL



200 mL

50 mL

4. %

Question Number : 146 Question Id : 7196501586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a catalyst drops the activation energy of a reaction at 27 °C from 100 kJ/mol to

42.73 kJ/mol. The magnitude of the effect on forward and backward reaction 1s

27 °C 565 w3 & 90850 @ 350 100 kJ/mol ol 42.73 kI/mol % Shedastn
oS YHETP SOOI STTPL J6500 DOGIE LeTPdo
Options :

Both increases by 10 times

Tocio §r5 10" O 500505

1. ¢
Both decreases by 10" times
Ootéd 87 10" 0w 50
2. ®
Both increases by 10° times
Toté) 587G 10° BEL 2BHH
3. %
Both decreases by 10° times
Ooled 837G 10° B 652
4.

Question Number : 147 Question Id : 7196501587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following graphs is correct for chemisorption?

PO OB Nee PFTo &3 Sod FOUS’ O HOGIE ?

X‘fm K

Options :

T
1. ®
X/ m
T
2.«
B (f
3.0 % T
X \
1

4. ®



Question Number : 148 Question Id : 7196501588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Which one in the following statements 1s “not correct” about refining of ores?

PO (K06 BRFLD) 360 (refining) $rdy Sob TP g TPag “0OGISE 520 ?
Options :

In poling, impurities are removed as gases

FOo) & SIPOTPZEN TPOSNHLNT SCODESE0W

1%
Distillation process is used for low boiling metals
Q505 HSON 0N 2Ra YRS PP (L SO Fetiteras GDAIFNDEMIC0
2. ®
Liquation 1s employed for high melting metals
FHOVE Y8 SEaod) O GOSN Pde SO GHAIFFD
3.
Zirconium is refined by using vapour phase refining
83073, VON0 0% TSP 3 Wede WPTP HO WP
4. %

Question Number : 149 Question Id : 7196501589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Oxidising power mcreases from left to right i the order.

S0 S0t FG8 wy¥tien FSose OO &

Options :

Ch<Bn<h<F>

Ch=DL<Br<F

2. %



L<F:<Ch<Bn

3. %

L<Bn<Ch<F

Question Number : 150 Question Id : 7196501590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not formed during the hydrolysis (partial / full) of XeFs?

XeFs 5 ee0 O3e (85 /3098%0) BSOS §obd aes’ 86 Hwdo.

Options :
Xenon trioxide
OeR G9sS G
], ® -

Xenon tetrafluoride

=

S PO

2. ¢
Xenon dioxyfluoride
O GESTOGE
22 [ oy o
3. %
Xenon oxyfluoride
. O @S \TOG

Question Number : 151 Question Id : 7196501591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In which of the following divalent transition metal 10ons have positive standard reduction

potential at 298 K?
298 K &6 EAR-IN NN o B 5&0013“8&5 DSBS arw¥e (divalent transition metal) &S
25768 2J05’9G AN D SPHIVek.
Options :
Mn™ (aq) + 2" ——Mn (s)

Mn® (ze) + 26" ——Mn (D)

1%
Fe™ (aq) + 2 ——Fe (s)
Fe* (as02)+ 2¢- —=Fe (0)
2. %
Ni**(aq) + 2" —=Ni (s)
Ni¥ (o) + 26" ——Ni ()
3. %
Cu™(aq) + 26" ——=Cu (s)
Cu® (z0)+ 2" ——Cu (30)
4.9

Question Number : 152 Question Id : 7196501592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How many unpaired electrons are there i a strong field octahedral complex of
iron (II)?
200D G w5arES 000 (1T) 0 F8eeS" 0dR) 2elid OFIDLN Golon?

Options :

0

1.¥



2. %

2
3. %

4
4. ®

Question Number : 153 Question Id : 7196501593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

‘Which of the polymers is made up of using two different monomer units, in which both

the monomers contains amine and carboxyl functional groups?

808 TUS @ POKE Tothd I, I IrSHE ONEISUS” SO BONWEIBIE.
00050 &3 Tolh) 3P 008" @00 00K $2T7)51S Dok Deharifen Gotrawn?

Options :
Nylon 6, 6
I 6, 6
1. ®
Nyvlon 6
IR 6
2. %
Nyvlon 2-nvlon 6
IR 2 -Jera 6
3. ¢
Melamine
SVSMVS)
4. %

Question Number : 154 Question Id : 7196501594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Match the following

2BBDGI0S0
List - I
360 — 1
A) Adenine
B3

B) Guanine

PY3®

C) Thymine
[ATeV VS

D) Cytosine
S0

fes

s

The correct match 1s

DOCAS a3¢h

Options :

I)

1)

10I)



I I1I A% I
1. ®

A B ¢ D

IV 111 I I
2. %

A B C D

II I 111 IV
3, %

A B C D

II III I 1A%
4. &

Question Number : 155 Question Id : 7196501595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following

A) Morphine

B) Saacharin

C) Ranitidine

2350 B0SW
A) S0ym
B) ¥%00

C) S83&wm

The correct match 1s

0003 2385

Options :

A B

II I
1. ®

A B

II I
2.¥

B

v I
3. %

A B

II IV

4.

IV

v

III

III

II)

ny

V)

I)

IT)
1)

V)

Sweetening agent
Analgesic

Disinfectant

Antacid

ST
5780 VGG Zo((ITe5e805)
550 Do Oeen

QoG



Question Number : 156 Question Id : 7196501596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Iodoform is obtained on heating the reaction of I, and NaOH with

I, 50050 NaOH e5° SGAMSD $ob 0 O o SOIPEIREM w5855 B0eb?

Options :
Methanol
0GS S

1. %

n-Propanol

n-TFHSS
ot
2. %

Benzyl alcohol
2B &Ly S

3. %

Ethanol
QDSOS

Question Number : 157 Question Id : 7196501597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
Which of the following does not form mtra-molecular hydrogen bonding?
800 TOES" 2 ©EIES TPEES Woldossd WIS NEIE?

Options :

OH o

CH,



OH

0=~ “~CHa.
OH O
3.8
OH
f co,H
4. ®

Question Number : 158 Question Id : 7196501598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following would give iodoform test?

808 TS DB OBPETED DO BB?

i i CH, i CH, P 0

® (i1) (1) () W)

Options :
(1) and (11)
(i) 00050 (ii)



(111) and (1v)
(ii1) SSo&asw (1v)

(1) and (v)

(1) 00030 (v)
3.

(1v) and (V)

(1v) 006G (V)

4.%

Question Number : 159 Question Id : 7196501599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product of the following reaction sequence is

S1 8o BPADHS IB5e” 6 D875 BB BB Do

0
|: o
H,C-CH,-C-Cl (CH;),Cd
Options :
CH,CH,CdCH,
1. ®
CH,CH,CHOH(CH,),
2. %
CH,CH,COCH,
3.¢¥
C‘H3CH2COOCH3
4 %

Question Number : 160 Question Id : 7196501600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

What are P and Q in the following reactions?

808 SFORS S$BguS" P s00n Q 0 2)D?

O (i) KOH (alc.) (esey, 508
NH (ii) | i Br. DMF
> P+Q
O (ii1) aq.NaOH | dil. HCI, A
U 263
Options :
P Q
Benzylamine Phthalimide
SIS ANV
1%
P Q
Aniline Phthalic anhydride
FUNLIIS 08 IO PGEIG
2. %
P Q
N. N-Dibenzyl amine Phthalic acid
N. N-G&Jo@ZSeodom @OS ohdadn
3. %
P Q
Benzylamine Phthalic acid
23050 OS5 ©siaS50

4.



